
01068097R00

801 Church Lane • Easton, PA 18040, USA
Toll free (877) 612-5086 • +1 (610) 252-7301
www.follettice.com

Order parts online 
www.follettice.com

Seismic Kit
P/N 01059104

Installation Instructions

Tools required
•  	#2 Phillips screwdriver
•  	1/2" Wrench and 1/2" socket

Materials supplied
(4)	 Wall brackets
(4)	 Wall anchor brackets
(4)	 5/16" bolts
(4)	 5/16" nuts
(4)	 5/16" lock washers
(8)	 5/16" flat washers
(12)	 #10-32 screws

Installation
Note:	 If you are using this in a food service application 

and installing in accordance with NSF, you must 
seal the unit to the floor once it is set in place. Place 
a 1/8" bead of NSF-approved silicone sealant (not 
provided) around the base of the unit. 

1.	 Attach wall anchor brackets (4) into wall stud 
using hardware and installation method suitable to 
application and local codes (Fig. 7.1).

2.	 Attach wall bracket to unit with two #10-32 screws 
(Fig. 7.2). 

3.	 Repeat steps 1-2 to install additional wall brackets 
in other positions.

4.	 Move unit into place, align wall bracket with wall 
anchor bracket and secure each with bolt, two flat 
washers, lock washer, and nut (Fig. 7.3).

Note: CA installations require two wall anchor brackets 
installed at top AND bottom of units. Go to Follett 
website http://www.follettice.com/misc/oshpd.asp 
for CA seismic anchorage information for “Stacking 
refrigerators and freezers.” The wall brackets on the 
bottom unit should be mounted near the floor level.

Fig. 1 Wall brackets

1

2

1

2
3

1

2
3

Top

Bottom

1

2

1

2
3

1

2
3

Top

Bottom



01068097R00
© Follett Corporation 6/14

801 Church Lane • Easton, PA 18040, USA
Toll free (877) 612-5086 • +1 (610) 252-7301
www.follettice.com


